Businesses: their
costs, revenue and

profit
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Billlonaire Warren Buffett, who has
just written-down his investment in
UBAir, belleves it is far from certain
the deeply troubled US airline will
ancceed in reaching a much needed
cost reducing agreement with its
labonr nnions.

UBAir ... has been talking to its
unions for months about how to
glash its labour costs. Wall Street
analysis belleve an agreement is
essential if USAtr is fo avoid ...
bankruptey.
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(Daily Telegraph, 21 March 1995)

The meaning of costs

As with many other words, economisis use the
termn ‘costs’ in a very specific way. The cost of
produciion, for any business, is what could have
been done with the resources used if they had
been used differently - i.e. the opportunity cost.
This suggests that the word ‘cost’ has a different
meaning in economics from that understood by
accountants.

Economists look at the following opportunity
costs involved in running a business:
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Labour costs business, t
A painter and decorator is likely to be self- g,hnzl;gﬁ
employed. When working out their costs for the ety long ¢
accountant, costs of materials, petrol for trans. * Mue .
port and insurence payments will be enﬁemd,l;;_; ! of art, they
and as long as the total income received is .

greater than the costs, the decorator will con- ]

sider that a profit has been made. However, what Goodawil
has not been included is the value of the ﬁme loyaity

that has been spent, doing the job. This will have .:-
an opportunity cost, because something elss =} A business

could have been done during that time . ] good reput:
Econormists would therefore want to include the < period of ti
price of labour as a cost. f. want: eithe
2 relizble serv

Capital costs \1 © ness, they w
4 small business may be started with §10,0000f § 2 longe
the entrepreneur’s own money. If that money ~f Phillips, Nes
were not invested in the business, it could be< 1[5 2 1o be
saved and could earn interest instead. The logs 53 Squipment tt
of the opportunity to earn that interest must:-g - Msmess as
ﬂlso,theam;

therefore be regarded as a cast for the econd-:
mist.

Depreciation

Any property owned by a company will lose
value over a period of time. This is called deprée
ciation. Equipment has a limited life span &
so, after a period of time, will need replacié
Think about a car. Most cars have a life spal
_around 10 years, so a car costing £10,000 wOWRg

therefore be worth almost nothing after 10 yea= .- ﬂ“"g OF not,.
One way to think of this would be to & 2 hargre;
£1,000 off its value each year, but this is unr® i I;;Jr]“cha‘sﬁd bel

tic: approximately 40% of the value of 2 new L2 S ste 3
is lost after one year. Therefore, after owning %78 ... 0. I

¢
car for one year, the business could sell the SUstomers oy
for 56,000, That is the opportunity cost of © 85075, com

baig fDr' I ai

ing the car: if the car were not owned b¥
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business, they could have had 26,000 instead.
(There are, however, exceptions to this rule,
Buﬂdingsﬂlatarekeptingoodrepaﬁ-canlasta
very long time, and indeed actually inerease in
value over a period of time - je. as with works
of art, they appreciate.)

‘3 \pGogiwil,} recognition and brand

eyt e
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loyalty

e
'Abusinessvﬁuanlysmymbusiness if it has a
goodreputaﬂon.’l'hiswx']lbebuﬂtup OvVer §
period of time by giving customers what they
want: either cheap or good-vaiue products, a
reliable service or high standards, When people
are thinking of using a particular type of busi-
ness, they will go to a name they know - particu-
larly long-estsblished brand names such as
Phillips, Nestlé or Jaguar. Therefore, if 2 busi-
niess is 10 be sold,  is niot just the buildings and
equipment that is paid for: it is the tmage of the
business as well; and if this image is not sold
also, the amount that someone is ‘willing to pay
for the goodwill, recognition or brand loyalty is
being gone without - another opporiunity cost.

Fixed and variable
costs h

A fixed cost is often referred to in business as
anovverlleaﬂ.li‘ixedcostsareooststhatﬂle
business has to pay whether it prodiices any-
thing or not, Think about somebody starting up
asahajrdresser.Cermjnitemswﬂlhavetobe
purchased before any customers can\'be seen —
for example, acissors, combs and brushes will be
needed. If the hairdresser sees one customer, 10
customers or no customers during a week, the
scissors, combs and brushes will stll have to be
paid for. If a shop is being used, rent for the

slmvaiﬂhavetobepaid,aswﬂlclmrgesfor
heating and lighting, These will all be fixed costs,

In this example, other things such as hajr
shampoo or conditioners will also need to be
bought, but the quantities of these that are
bought will depend 6n'the number of customers
seen. The costs of these latter items are there-
fore called variable eb?ts ‘

Cohsidér an aeroplane flying from Frankfurt
to New York Whether it carries one passenger
or 500, most ofﬂlecosmmvo]vedinﬂyingmax
aemp]aneSﬁtha.?etobepaid,mme]ylanding
fees,ﬁlelbﬂls,payforﬂleﬂightmw. These are
the fixed costs. On the other hand, some cosis
Willriseasmorepassengersa:recanied.'lhese
are the vartable costs. In this example, food and
drink may be the only variable costs, The price
charged to a pagsenger could be very low (such
as when flights are discounted), and it would
still make sense to carry the passenger, As long
a8 you can cover the variable costs and a little
bit more, it makes sense to sell a place on the
fight: even §1 in excess of the variable costs is
&1 towards the fixed costs that have to be paid
whether or not that passenger flies,

Stmilarly, cross-channel ferry companies may
offer you the chance to have a day out In France
for £1. 'I‘Ilisusuallyappli&'dinwinter_when there
is alot of spare space. The ferry would normally
run perhaps half-full, and again virtuslly all the
costsareﬂxed-ﬂleywﬂlhavetobepajd
whether you sail or not. So your £1 is revenue
that goes 1o offset those fixed costs, However,
the ferry company also hopes that you will
spend exira money in the bars, the cafeterias
and the duty-free shop so that they gain more
revenue!

Total and qverage costs

i ——

When the fixed costs are added to the variable
costs, we arrive at the total cost. The total cost
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is the sum of all the costs of the business, If we
then divide the total cost by the total output,
we find ﬂleiﬁ}fgl;agg_ Ccost. So, if a plane iz Carry-

r—

ing just one passenger, then the average cost of

the flight will be the same as the total cost
However, if the plane ig carrying 500 passengers,
the aversge cost will be the total cost of the
fiight divided by 500. The airline will want the
fare charged to be preater than the average cost,
but this will be impossible if only a few people
are flying. As mare People fly, however, the aver-
age cost will decresge untl it is equal to the fare
(at which point the company breaks even).
Thereafter, as yet more tickets are sold, the
money that is received-from each fare will be
greater than the average cost.

In economics, marginal simply means extrg. So
the margim.leostformeajrﬁneisﬂleextra
cost of carrying one exira customer, We have
already seen that this is very low compared with
the average cost of a Passenger because the mar-
ginal cost anly takes into account the variable
costs, while the average cost is calculated using
ﬂietﬁtai% e 2

A useful way to think about the
relationship between average and marginal
costs

Think about a football team whose average
scominﬂleseasonsofarisZgoalsperméfch.
A_nyscoretheygetinﬂleirnmgamewiﬂbe

Scom_islessmmz,theiraveragescorewﬂlgo
dOWILIfﬂﬂsmarginalscoreisgneaterﬂ]an:!,
their: average score will rige, If they score
emcth‘&ﬂlemargina]andavemgeseoreswiﬂ
be the same,
Itiﬂtheﬂamewiﬂlcosts.lfﬂ:lemarginalcost

38

i8 less than the average cosi, then the average
Ccost will fall. If the marginal cost i3 greater than
the average cost, then the average cost will rise,

The marginal cost carve will always cross
the average cost curve at the sverage cost
curve’s loipest poini - see Figure 9.1,

MC
AC

Costs ———»

-

0
Output —— »

Figure 9.1 mwmtcummdthsmwmmsa
curve

,Tunnslmne’deu]ierthisweek,
thatitwasonthemrgeofcoﬂapsing
from the weight of £2 million a
monthmtamtpaymantsonitaﬂa
billion debt,

(Adapied from The Guardian, 12 April 1095)

fmyoompa:ﬁeshﬁveahighpmporﬁonofvm-
gble costs. Theyha:velalgecrewsandusealot
offueLEachcrossingisapensive.TheChmmel
Tunmel, ontheotherhand,isrelaﬁvelycheapto
operate. Mosi of the Tunnel's costs are fixed in
ﬂmtﬂlecostofmeo.ﬂgma.lengineuingproduct
mustbepajdwhetherpassengemuseﬂle'hmnel
Or not.
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Total, average and
marginal revenue

Money that the airlne receives in fares will be
its revenme. Revenue is thus the money that a
business receives from the sale of its goods or
services. As Mr Micawber may have said: if
revenue egeeeds costs, good; if costs exceed
revenue, disaster.fTotal revenue is all the
money received from $ales| Average revenue
i8 total revenue "divided by the number of
sales; so, if” Bi‘lﬂh'_glrways receives £150,000
from the sale of 500 tickets for a flight from
London to New York, the ‘#¥erage revenue from
each ticket is £300.Marginal revenue is the
money received from m mit of
ouiput; for British Airways, this will Involve sell-
g one exira seat.

When is it
worthwhile
remaining in
operation?

We have an aircraft that is going to 8y to New
York, but only 200 people have booked seats.
Most of the costs, however, are still going to
have {0 be paid. We can't ask those pagsengers
who have already booked their seats to pay
more for their tickets. However, what we can do
is sell tickets more cheaply to try to fill some
exira seats. Cheaper tickets might not cover the
average price of carrying a passenger, but that
doesn't matter: as long as it doesn’t cost us mere
to carry a passenger than we receive for their
ticket, it makes sense to take them anyway, even
at a ridiculously cheap fare. So, at least in the

short run, it makes sense for a firm to carry on
producing so long as its marginal revenue (in
this example, the price of a chesaper ticket for
one exira passenger) is greater than its marginal
cost (in this example, the (variable) cost of car-
rying one exira passenger). This is because in
the short run, same costs are fixed snd some are
variable. That in fact is the definition of ‘the
short run’ in economics: that you have both fixed
and variable costs. In the long run, you ean get
rid of your fixed costs, so that ail your costs
become variable. Businesses continue to operate
in the short run even when they are making
a loss, because they would have to pay their
fived costs even if they closed down. While
they continue in operation, however, they can-
raise revermue that will cover their varizble
costs and at least make a contribution to fized
costs.

How long is the short run?

Think about a trader who sells hot dogs in the
market. He has fized costs: the repayments for
the loan he fook out to buy the stand; and he has
variable costs: the costs of the sausages, rolls,
onions and mustard. He can get 1id of his fived
costs quite quicldy by simply selling the stand
and paying off his loan. Thus, ﬂlelorlg_runhere
is the time it takes to sell the stand — perhaps a
day.

Comnpare that situation with a car manufac-
turer such as Vauxhall 2t Luton. If this manufac-
trer were to stop production, the company
would have & huge-factory to sell. It may be able
to sell the land, but this could take months or
years, and in the meantime, rent would still have
to be paid uniil the site was sold, workers may
need to be paid until their notice expired, and so
forth. The short run for Vauxhall could therefore
last monihs or years.
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Simon shrinks losses
to £I18m .-

Simon Enginesring, the access

equipment to process engineering
group, turned in redusced losses of
£18m last year, down from £1680m in

18938,
Over the past year, Slmon has sold
elght subsidiaries, clossd four more,

and sold a number of properties.
Pt ~
et S IR et e

(Datly Telograph, 21 March 1995)

Profit

Very simply, profit is a business’s total revenue
minus its total costs. That is very straightfor-
ward, but I'm afraid economists complicate
things a bit, Rememberﬂwj;wesajdatﬂlebegin—
ning of the chapter that economists were inter-
ested in opportunity costs. Similarly here, when
it comes to profit, if a business made 510 million
lastyearbutooﬂdhavemade.“cﬁmﬂlionﬂ'om
doing something else, then that £6 million is the
opporbmity cost for the firm. The £6 million here
would be called normal profit. Economists
countnormal profit as a cast,

If 2 business cannot make normal profit, then
it switches io doing something else, Econormists
assumeﬂmtanybusinesswﬂldotheﬂﬁngﬂmﬂt
can make the most money by doing. Thus, nor-
malproﬂtistheamomﬁprocﬂtneededtokaep
abusmeesdohlgwhatitismmmthan
switching to something else. Any profit that is
madeoverandabovenmnmlpmﬁtis called
abnormal, sapernormal or economic profit -
they all mean the same thing. In this example
-&ﬁmﬂlionisnmm:]roﬁtandtheremmm
40

Hmﬂlionissupemomwlorecononﬂcpmﬂt.

Because economists treat normal profit as a
cost (it’s something that a business has to cover),
abnonnalpmﬁtissomeﬂﬁng that is made when-
ever total revenve is greater than total cost.

Summary

Economists are inferested in opportunity cost
rather than financial cost. Businesses face both
fixed and variable costs in the ghort run, but in
the long run ali costs are variable.
'Ihemtalcostisequaltoﬂleﬂxedcmlsplus
ﬂtevaﬂableeosts,wiﬂetheaveragecostisme
total eost divided by the level of output. The
marginalcostisﬂlecostofproducing one extra
unit of whatever the business produces.
Revenue is the money received from sales,
andpmﬁtismwrevmuethatisgtmtermm
total cost Nonnalm‘oﬁtisthéamounto!’proﬁt
tha:tmakesitworﬂlwhﬂeforabusinesstocany
on doing what it is doing rather than switch to
SOmefﬂﬁngelse.Abnonmlpmﬂtisproﬂtthatis
greater than normal profit.

MAKES YOU THINK!

The troubled £10.5 billion Channel
Tunnelwarnedearliathisweek, '
thatitwusonthevergeufcoﬂlapsing
from the weight of £2 million a
month interest payments on its £8
billion debi.

— ]

(Adapled from The Guardian, 13 Apvil 1095)
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